

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

October 15, 2025 11:00 AM Call Order: 001 Contract: E21V7-R0

District: District 2 Counties: DIST/ST-WIDE, DIXIE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS GILCHRIST, LEVY Project(s): 41021827265 (*)

Contract Desc: Intermediate Mowing and Litter Removal

02251015

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	GRSC, INC.	Responsive	Non-Winning Bid	\$391,925.00	100.00%
2	MOVING EARTH INC.	Responsive	Non-Winning Bid	\$396,750.00	101.23%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$398,500.00	101.68%
4	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$399,475.00	101.93%
5	SABINO FUENTES LAWN & LITTER ROAD SERVICES LLC	Responsive	Non-Winning Bid	\$409,125.00	104.39%
6	CGI LAND SERVICES LLC	Responsive	Non-Winning Bid	\$424,500.00	108.31%
7	ABC STUMPING INC.	Responsive	Non-Winning Bid	\$439,500.00	112.14%
8	WD GARDNER LLC	Responsive	Non-Winning Bid	\$662,500.00	169.04%
	UNITED FREIGHT SERVICES LLC	Non Responsive	Non-Winning Bid		
	SHELLYS TRACTOR SERVICE	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 02251015 October 15, 2025 **Call Order:** 001 **Contract:** E21V7-R0

District: District 2 Counties: DIST/ST-WIDE, DIXIE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

GILCHRIST, LEVY

Project(s): 41021827265 (*)

Contract Descr: Intermediate Mowing and Litter Removal

The work under this Contract consists of a work document driven contract that consists of providing all labor, materials, equipment, and incidentals necessary to complete urban trimming trees, manual weed control, intermediate mowing, litter removal/disposal, and trimming around appurtenances, slopes, and soft/wet areas on primary roads & maintenance stormwater ponds in the Chiefland Maintenance Area. RENEWAL OPTION.

	e No / Item ID n Description	Alternate	Quantity Units	(1) GRS	C, INC.	(2) MOVING I	EARTH INC.	`	AWN-FENCE CE INC
	ndicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (INTERMEDIAT	TE MACHINE MOV	VING (AC				
0005 LITTER	E107 1 1 R REMOVAL		2,000.000 AC	15.00000	30,000.00	25.00000	50,000.00	8.00000	16,000.00
0010 MOWIN	E107 2 2 NG (SLOPE)		165.000 AC	295.00000	48,675.00	150.00000	24,750.00	500.00000	82,500.00
0015 MOWIN	E107 2 3 NG (INTERMED	DIATE MACHINE	3,000.000) AC	95.00000	285,000.00	102.00000	306,000.00	65.00000	195,000.00
0020 WEED	E107 2 5 CONTROL, MA	ANUAL	10.000 AC	950.00000	9,500.00	1,000.00000	10,000.00	4,500.00000	45,000.00
0025 PRUNI SHRUE		MING (TREES A	15.000 ND PM	1,250.00000	18,750.00	400.00000	6,000.00	4,000.00000	60,000.00
0001		E MACHINE Sec DWING (AC)	ction Totals:	ı	\$391,925.00		\$396,750.00		\$398,500.00



10/24/2025

Tabulation of Bids

Page 2 of 5

Letting:	02251015	October 15, 20	25 C	all Order: 001		Contract:	E21V7-R0	E21V7-R0	
Line No / Item Item Descripti		te Quantity Units	(1) GR	SC, INC.	(2) MOVING	EARTH INC.	` '	LAWN-FENCE VICE INC	
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$391,925.00		\$396,750.00		398,500.00	





Tabulation of Bids

Page 3 of 5

Lettin	i g : 02	2251015 O	ctober 15, 20	25 Ca l	II Order: 001		Contract:	E21V7-R0	
	e No / Item ID	Alternate	Quantity Units	(4) BOONE IMP		(5) SABINO FUE LITTER ROAD S		(6) CGI LAND	SERVICES LLC
() in	ndicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (I	NTERMEDIAT	E MACHINE MOV	VING (AC				
0005 LITTER	E107 1 1 R REMOVAL		2,000.000 AC	30.00000	60,000.00	55.00000	110,000.00	25.00000	50,000.00
0010 MOWIN	E107 2 2 NG (SLOPE)		165.000 AC	200.00000	33,000.00	225.00000	37,125.00	300.00000	49,500.00
0015 MOWIN	E107 2 3 NG (INTERMED	DIATE MACHINE)	3,000.000 AC	98.00000	294,000.00	80.00000	240,000.00	100.00000	300,000.00
0020 WEED	E107 2 5 CONTROL, MA	NUAL	10.000 AC	499.00000	4,990.00	1,000.00000	10,000.00	1,000.00000	10,000.00
0025	E580336 4		15.000	499.00000	7,485.00	800.00000	12,000.00	1,000.00000	15,000.00
PRUNII SHRUB		MING (TREES AN	ND PM						
0001 I		E MACHINE Sec OWING (AC)	tion Totals:		\$399,475.00		\$409,125.00 [°]		\$424,500.00
		Contract Grai	nd Totals:		\$399,475.00		\$409,125.00		424,500.00



10/24/2025

Tabulation of Bids

Page 4 of 5

Lettin	g: ()2251015	October 15, 20	25 Cal	I Order: 001		Contract:	E21V7-R0	
Line No / Item ID Alternate Item Description		te Quantity Units	(7) ABC STUMPING INC.		(8) WD GAR	DNER LLC			
() in	ndicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(INTERMEDIAT	E MACHINE MOV	VING (AC				
0005 LITTER	E107 1 1 R REMOVAL		2,000.000 AC	50.00000	100,000.00	30.00000	60,000.00		
0010 MOWIN	E107 2 2 NG (SLOPE)		165.000 AC	100.00000	16,500.00	500.00000	82,500.00		
0015 MOWIN	E107 2 3 NG (INTERME	DIATE MACHII	3,000.000 NE) AC	100.00000	300,000.00	150.00000	450,000.00		
0020 WEED	E107 2 5 CONTROL, M	ANUAL	10.000 AC	800.00000	8,000.00	1,000.00000	10,000.00		
0025 PRUNII SHRUE		IMING (TREES	15.000 S AND PM	1,000.00000	15,000.00	4,000.00000	60,000.00		
0001 I		TE MACHINE S OWING (AC)	Section Totals:		\$439,500.00		\$662,500.00 [°]		

Contract Grand Totals:

\$439,500.00

\$662,500.00



10/24/2025

Tabulation of Bids

Page 5 of 5

Letting: 02251015 October 15, 2025 **Call Order:** 001 **Contract:** E21V7-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.